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Sefd vs za
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N srcNmae AzErrAsec ZaErrAsec FwhmAz FwhmZa Tsrc/Tsys sigFit

0J2014+235 1.3 -4.9
1J2014+235 2.9 -4.8
2 J2014+235 3.9 -5.4
3 J2014+235 2.4 -6.2
4 J2014+235 5.0 -5.9
5J2014+235 5.7 -7.2
6 J2014+235 3.2 -6.6
7 J2014+235 6.8 -7.0
8J2014+235 -0.8 -6.4
9J2014+235 -0.1 -5.6
10 J2014+235 0.6 -6.6
11J2014+235 -2.1 -7.6

146.6 162.6 1.09 0.0247
158.6  155.0 1.09 0.0417
146.8 165.9 1.12  0.0191
149.2 163.6 1.12  0.0194
163.7  149.1 1.13 0.0190
147.7 163.7 1.13 0.0190
1485 163.5 1.13 0.0192
148.3 164.3 1.14 0.0187
1479 165.1 1.14  0.0179
145.7 168.2 1.14  0.0180
148.4 165.1 1.13 0.0182
1471 167.4 1.13 0.0188
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